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; 1.
then the image is : ' : of diameter 200 m in 30 s. What will be the
(a) erect, virtual and smaller than the displacement at the end of 3 minutes and
object. - ; 45 seconds ?
(b) inverted, real and smaller than the Sadln o
: - ; (b) 100m
object. :
. () 200m
(c)  erect, virtual and larger than the object. @ 236m '
(d) inverted, real and larger than the object. ; »
: 6. What happens to the gravitational force
2. What is the correct sequence of resistivit; hotwesnan obJech N 1G6 wite e ob:]ect 55
/ : » doubled and the di tween them is also
silver, nichrome and glass at @‘ . :
temperature ? 26 : Nk oo
(a)
(b) i o
(c) i ylass b i se by a factor of 4
(d) Nichr <51 : h 1 oxygen gas used in the
7 i RO ' mole of glucose is :
3. At the time of
circuit :
(a)
(b
(0)-7a ¢ e he following s not an example
@ . :
ter changes if left for a
4.  Which one of the following statem, e e e
correct ? jueous), solution of barium chloride is
(a) An electric motor conyerts . ¢ \‘m 'sodium sulphate solution
energy into mechanical ene y sh-brown powder gets coated on
articl de of i
(b) An electric generator works on the .1c s 1f'on .
et Sl ; (d) Wine gets sour with time
prmclple of electromagnetic induction. '
(¢) The magnetic field at the centre of along|9.  Methanoic acid is normally found in :
circular coil carrying current will be (a) muscles
_ parallel straight lines. (b) urine
- (d) A wire with a green insulation is usually (c) ant stings
the live wire of an electric supply. (d) human brain
GHSA-B-GNL A (3-A)

If the magnification produced by a lens is +2, | 5. P A boy completes one round of a circular track
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What i is the number of moles of ‘He’ in 104 gof|15. Suppose, due to an accident, the delicate

helium gas ? lining of the mouth and the oesophagus of a
(a) 52 person is injured. In this case, which one of
(b) 26 the following tissues will be affected ?

() 13 (a) Smooth muscle

it (b) Cuboidal epithelium

While burning hydrocarbon fuels, if we see a (¢) Squamous epithelium

yellow flame with lots of black smoke, it b »

means that the fuel is : (d) Striated muscle

(a) made of saturated hydrocarbons.

(b) made of unsaturated hydrocarbons. ; i

(¢) burning completely. . atémen 2
(d)

The number

bonds in cyclo cture for all
(a)

(b) les the cell to
(c)

(d) on of gases like
Which one of th

(a)
(b)
()
(d)

the process of :

organism is isolated and

the cell of another organisny The disease rickets develops in children due to

(b) This technique has applications only in Hie defiatndyot;o
plants. (a) Vitamin C

(c) Genes for insect resistance may spread : : :
from crop plants to wild plants. (b)  Vitamin D

(d) To produce a transgenic animal the (¢) Vitamin A
novel genes are inserted at a very early Sl '
stage of development. (d) Vitamin B

- GHSA-B-GNL (5-A)
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~19. Match List I with List II and select the correct | 21. An object weighs 9N on the surface of the

 answer using the code given below the lists : Earth. What would be its weight, when
List1 List IT measured on the surface of a planet where the
(Bloo¢.Vessel) ~ (Function) . acceleration due to gravity is 9 times that on
A. Pulmonary 1. Carries blood from the surface of the Earth ?
artery lungs to heart e j
: (a) The weight would remain the same
B. Capillaries 2. Carries blood to heart : :
; muscle (b) The weight would be equal to 1 N
C. Coronary 3. Connection between - (¢c) The weight would become 9 times
- artery arteries and veins ] 1
B Puditonscy 4/ wlinsti dbodkfem (d) The weight will be reduced to 9 N
vein heart to lungs

; Code :
ety
(a) 4
(b) 4 .
@) 1 ge in the position of the
: :

@

- 20. Which one of
with regard to

length of 15 cm. At
(a) The -

ject be placed in
et a real image of the

(b)
greenhouse= and the )

wavelength infrared radiations fre
ground and the plants’ i
greenhouse can also - ; :
thitdeh the:ghasy’ : . of the foilowmg statements about

© e e wavelen 10gas is not correct ?
radiations from the Sun cannot enter (a) It is mainly composed of methane gas.
into the greenhouse while longer ,
wavelength infrared radiations from the (b) It is a non-renewable source of energy.
ground and the plants inside the (c)‘ It is formed’ by the decomposition of cow
greenhouse can pass back out through ditng i the Alkbas of e
the glass. ; 8 e

(d) No infrared radiation can pass through (d) It burns without smoke and leaves no
the glass of the greenhouse. residue. :

GHSA-B-GNL ' TR )
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(b) a9t # @S 1 g

(c) i & Y Ul I FeAT

(@) 9§ ey e i g
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31.
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33.
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B
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25. Which of the following mineral acids is found |30. Hyphae are :
. 2 ? A : 4 %
IrOIse Somal 7. v ; (a) produced by yeast.
L e (b)  thin threads f d b,
; eads forme man, fung1
(b Lacticacid e
(& Uric aciil ‘ ; (¢) ' reproductive cells '
@ Methanoic I R : : (d)‘ responsible for preveqting the cell from
losing water in wet conditions.
26. Which one of the following living orgamsms
gives litmus ? : s :
@) Photiason 31. Which one of the following is the first urban
; settlement in the world to reach a population
(b) Virus . i NN\ :
. : ‘ us city) ?
(c) \
(d)
27. Which one o
of acid rains
(a)
(b) owing climatic types
(c) hes suited to describe
(d) western fringe of
28. Mutation in a
in its :
(a)
(b)
(c)
(d)
29. Yeast, which is usgd to make bread, belongs to 33. Where are the Bermuda Islands located ?
the group : :
ey "Botista (a) Caribbean Sea
(b) Fungi : ; ‘ (b)  North Atlantic Ocean
(¢) Monera (¢)  Gulf of Mexico
(d Protozoa HECh (d Mediterranean Sea
GHSA-B-GNL : (9-A)
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34, ﬁm‘%ﬁaﬁ%aﬂq—ﬁ@mﬁam%ﬁﬁ

Fa AT & 1 tfreran gfosa o= 83 8 2
(a) WW

(b) WL

(c) HTTIE

(b) IETHE AR |
(c) ST AATE

(10-A)

. ﬁ%@aﬁﬁaﬁaw&wﬁmwﬁm e

#E?

- T gl '
2. Gﬂmmm
3. AduT dEnd A
R few e e e A v g
(a) a1 7
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Which one of the following States/Union
Territories has the highest percentage of
forest area to the total geographical area ?

34.

Aruhachal Pradesh

(a)

(b) Lakshadweep
(c) Nagaland
(d) Mizoram

Wind energy.

Who among the following, first mooted the
idea of deficit financing ?.

- 37.

(a) Adam Smith
(b)
(c)

(d

Alfred Marshall
“John Maynard Keynes
Milton Friedman

- GHSA-B-GNL ' (Xis
Join Telegram
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(b)

Which of the following is/are the function(s) of

~ environment ?

1.  Supplying resources
2. Sustaining life
3.  Providing aesthetic servi_ceé

Select the correct answer using the code given
below :

@ 1 only

o formulated the
a measurable
the Indian

e following terms denotes the
inputs in terms of tools, machines, buildings,
raw materials and money in hand required at
any stage of production ?

(a) Fixed capital
-Working capital
(c)

(d)

Physical capital

Human capital
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Which one of the following inputs is required [44. Which one of the following is not a provisiop

in less quantity in case of non-farming| . related to a Money Bill ? :
activities ? : : ‘(a) Imposition, abolition,  remission,
e alteration or regulation of any tax

; : (b) Appropriation of moneys out of the
(b) Labour : e Consolidated Fund of India
© ‘Capital . " (¢) Imposition of fines by local authority for

: local purpose

(d) Raw material 2 - (d) Custody of the Consolidated Fund of

India or the Contingency Fund of India

\§

(a)

(b)
tatements is/are

(c)
sti mates is an ad hoc

(d)

Which one of the following is
as a form of Emergency in the
India ?

c) Bothland2
(d) Neither 1 nor 2
(a) National Emergency :
(b) State Emergency in terms of|47. Which one of the following is not an Indian

Proclamation of President’s Rule in a form of Socialism ?
-~ State ; (a) Democratic Socialism

(b) Radical Socialism

(¢c) Financial Emergen ;
i / (¢) Communitarian Socialism

(d) Health Emergency : (d) Nehruvian Socialism
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48. Trfafaa & @ ﬂq-m T, BRICS aﬁ Tl

I g afttd & 2

(a)
(b)
(c)
(d)

49.

it ey e o T

ot sfenfiga T g

- afeErs gfm % S F § UN g ufg
% Ui WA 9 F A wge-Aw

50. Gl fea gfe

5L
TR asr',aqim
Yeerd: YRa 78T o |

fmmi & |°

ﬁﬁqmgwmmaﬁmgﬁq

(a)
(b)
(¢)
(d)

GHSA-B-GNL :
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51.
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(a) 1851
(b) 1854

(c) 1865

d) 1871
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i T oft 2

(a) AHHHATCIQ :
(b) mm

(c) TIATEHY
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Which one of the following best describes|51. In which one-of the following years was the

BRICS 2. . first telegraphic connection  established
(a) A group of five nuclear powers "« Rty Diapapte fuad Indig 7
(b) A group of five industrialized nations (a) 1861
(¢ A group of five major emerging (b) 185‘%
economies , (c) 1865
(d) A group of five potentially strong UN (d) 1871

Security Council members from the
Countries of the Global South

)

(a)

(b)
(c)
(d)

Which of the

represented by a woman s
lotuses and elephants.

directly inspired by Buddhis ; . Which one of the following works was

Select the correct answer using the code given | - composed by Kl_'ishnadevaraya on statecraft in

below : , Telugu ?

(@ 1,2and3 (a) Amuktamalyada

(b) 2 and 3 only ; | (b) Jambavati Kalyanam

(¢ 2 only = . (¢0 Rayavachakamu

(d 1land3only | (d) Satyavadu Parinaya
GHSA-B-GNL '
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55. et I I gt 11 & gafaa Hifve it gt &

56.

i fou e e 1 e W= @ 3w g
gl gl
(93T 5% 1R) (75 fasar)
A Eia 1. 39 91 ga fft
B. 3A<EA 2. 79 foefa fomm
aER-feurfa arcf et
C. fedmi@ 3. % wga gl 3R wgw
e el gerd 8
D. Ffefdid 4. 3 geisi § Sl wal
4 wga sferes AT A
EERGRR
%e:
A B C D
(@ 2 1 d 3
® 2. W 4 3
© 3 4 1 2

(d 3 1 4 2

forelt merere I Srdmerye 83 # fudhe #r

fraferfea # @ frg ik T G st S ST R 2|
60.

(a) oo

(b)) T

(¢) 9Nl

(d) Y=

GHSA-B-GNL
Join Telegram : https: '//t.me/defenceekaksha

517.

59.

Yk AT JAT8 AWAR W B & Fle A B
&, Tobg @it Tamafy & v, IRar 89 O
yaE ¥ Sareget fiffa & wed § 1 W@
SATATYE! 1 FEA @ ?

(a) 9R&H SATATgE!

(b) s SaTemgEt

(c) ’R‘Iﬁ?‘lw

@ et saremE

. STEERA R Siey aiel Yt § 2

(a) THE A9
(b)
() TH a§

BIERAC]

(d) EHE AdvIdr

PR 3 & el el e i & =

HHHAT ST ?

(@) e # S A S @l areh B
foesft ot |

(b) HRCE SRR STol # oy w1 arel +8
o o fof

() URE I I @ R wled e B

faesht anforsy
(d) WK H $ferh GEAH Tl F AT B
fafafea & & S8 e, Rt agg A @
Sl AT I gHIfad 77 L ?
(a) o] I 39T hHma
(b) foreht e awg 6t i
() Toreft Tamms avg 1 Fima
(d) TE % 3T ¥ AT ht hiHd
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55. Match List I with List II and select the correct [ 57. Individual Iava_ flows are normally only a few
answer using the code given below the lists : feet thick, but over a long period of time,
; ’ ' ‘ repeated flows may build up a volcano. Such
List1 toulibet I ek 5 A volcanoes are termed as :
S % - p t . tic A .
(Soil Type) (Salient Characteristic) i3 Bhisldwalosis:
A. Entisols 1. Soils having weakly or ~ (b) Composite volcano.
quickly developed : 3
holizins (c)  Strato-volcano.
- ; : (d) Cinder-cone volcano.
B. Inceptisols 2. Weakly developed soils : W
with no horizons
C. Histosols
D. Oxisols
Code: wing would be
A Investment ?
(a)- 2 e B ~ 1 ’ uymg shares in
A : a
g ion fund investing
© 3 : b
@ 3 : X . i T ent banker buying
~ entity setting up ‘an
1al institution in India
56. A peripediment in a desert ’ : D
i : . 60. Which one of the following does not influence
i s e “quantity demanded for a good ?
(a) Inselbefg ; ' . (a)  Good’s own price ]
) Zeugen (b) Price of a complementary good
' : (c)  Price of a substitute good
(¢) Bajada . , :
; % . : (d) Prices of inputs into production of the
(d) Playa : good
GHSA-B-GNL (17 -A)
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frfafiea & @ forw v gw o1 ROy 9oy ruma
Wia % 1] 9eg U & qera R 2

(@ A

(b) EIH TS AR

(c) e v

d) 39I § A B &

frafafed & & 98 SUEE  wHivsd
sfcenfirar &t gfua #@ § 2

1. fadfed oo ‘

2. Wﬁﬁkﬁ?ﬁﬂ@ﬁa@m

3. Yawly

4. GuEl 3TE

= ST e 5e w1 SR =R OEE 3 g

(a) Had 1AW 2
(b) a1, 23R 3
© ¥aw@3aM4e |
) WzaﬂIA'

m%aﬁm%awsﬁﬁamaﬁa 19(1)?1
frfefaa § & s nanfier 872 2

1. s 3 siftveate 6 e

2. nfawear & 3R fomm wex gehg BT

3. Eufd &1 3 IR e S

4. WA % R TSIEA § Waaar A S-S
H= f3T Tu e w T W EE 3w g
(a) had 13 2

(b) 1,2,33M 4

(¢) had 4

(d) hae 1,237 4

64. fiatem mm & ey ¥, Fefefed wu=i § 3

65.

(18-A)

@

HH-H1 T TE TR 2

(a) I8 YRA % IU-USUTT & 9 & fow Pafaw
Ei

(b) i3 Fatem g, ger fafem smes i
YT % foFT 319 Ug | BT AT Fehell
2 |

() Traf= s, m%wﬁwﬁw
fopu 9 # |

ﬁs&ﬁmwm,ﬁﬁaﬁf‘m@,zﬁ
it s # wEEs  wEEag
(W)maﬁﬁ%mmﬁuﬁzﬁmé
I

w3 dREm f SR % w4

Frfafad woei & 8§ SR ad 32 2
1. Sef3mnr 8 gfaser i guar 3R faew i
. GHANH IeoE § |

2. Jffreafe, g fi TwHar i srgvedr

SR oy § T oft |

= fu U e 1 T T W g

(a) hadl 1
(b) HaA 2
(¢) 1323

@ AWML, 2

Join Telegram : https //t me/defenceekaksha
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Infant mortality ratio of which one of the|64. Which one of the following statements with

following countries is comparable to that of regard to the Election Commission is not
India ? : correct ? ;
(@ China : (a) It conducts elections to the office of
(b)  United States ofAmérica ; the Vice President of India.

- (¢) SriLanka

(b) An Election Commissioner can be
removed from his office without the
recommendation of the Chief Election

(d) None of the above

Which of thé- following factors signi
monopolistic competition ?

1 oners are appointed
2.
8. arri ) enta : is constitutionally
4. geneou: j yport staff to the
Select the correct the eode give . AElechi sion, if required. ’
beIOW g2y R 2o, ain Ty S
~(a) !
() 1,2and :
o : o latements with regard
() LN 4 4 onstitution of India
(d 2and4o
Article 19(1) of the j s it| - A and equality of
stands amended, include ch of the| pportunit mention in the
following ?
1’. ; pression ‘unity and integrity of
2.  Assemble pe\aceably and v i nht i s bt
3.  To acquire and dispose proper: e since the beginning. '
4. To move freely throughout the territory A 3 ;
of India : Select the correct answer using the code given

Select the correct answer using the code given below:

below : » ; (a) 1only
(a) 1land2only ;

(b) 2 only
(b) 1,2,3and4 :

(¢) Both1land?2

(¢) 4only
- (d 1,2and4only Teay 4 (d) Neither l1nor2
GHSA—B—GNL
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66.

67.

68.

A & Hfqu™ % 9oIve §, frafafea § 9

HIF-TT Th, WA & YA A0S & HdT 5

w9 o gftfq 78F 2 2 f

(a) TS Ba1 G, 9@ 36 forw svme femen
il

(b) Gft Fi mafe % fou sguEsES SaEr #i
i

(c) TUHIcHS TN TWpfd ol A 1 3R

JHHT GRAETOT BT
(@ TS0 S gur B qE T w

oI H § e (SEufiE) w A
fram =1 ffde #@ & fou Fefefea w=gi &
ﬁaﬁqﬁmﬁqmﬂ}v

1. @ B

2. IEnft |
3. ™ |

4 L. . .
ﬂ%ﬁqm?@mmmaﬁwgﬁq
(a) I 1,37 2

(b) had 2 A3

© a6 1,230 —

(d) had 1,33 4

frefefaa & g swoft smeh afgen 3 1910/

3R 1913 & w9 T IATHHAT A HIT B
grrETiEs €9 & yeifa famm 2

(a) fornifeft gt

(b) TEg=h

(c) ST THAT TEEA §o

(d) heATrETRE 2

GHSA-B-GNL (20—
Join Telegram https //t. me/defenceekaksha

69.

70.

71.

A)

frefafea semeli #i we@ yow ¥ & W

HIATHHS T T ST
1. IrEHqET fid geara
2. <URY HAWE
3. HCIUE |HT HT HEATH
4. SfGEiare 90 gAThIS
H9 fw T e F1 AN W T IR R
) X284 _
b): 2,134
(©). 2, 43
d) - 4,2,1,38 - \
a§1916w%3ﬁ3mﬁ‘%a%qugauﬁ%v
1. S dETS ARETE
9. i\ _ofm gugar
3. Bm wa o W E
+fid fory 77 e T T R SR g
(a) et 13K 3 : ‘
(b) Hac 23 3
(0 HE 1R 2
@ 1,23R3 -
g 1 e & Rl i st ghe %
I 14T 1Y, e 1 T 9 IW g
g1 g
(37 57) (g
A 2feEgE 1. foeheueEme.
B. cfurmes 2. iehEl
C. gfemrafyam 3. foemag
D. cfauigdmer 4. gEeh
Fe: 1
A B C D
(a) = 2 1 4 3
b 2 4 1 3
()i =8 4 7 2
3 1 4 2

(d)
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In Part-IVA of the Constitution of India,
which one of the following is no# mentioned as
a duty of every citizen of India ?

(a)

To render national service when called
upon to do so

To renounce practices derogatory to the
dignity of women

(b)

To value and preserve a unitary national
culture

reform

(a) 1land

(b) 2and3o

(¢) 1,2and3only
(d 1,3 and4only

Who among the following pioneering Bengali

women serialised her autobiography Amar|

Katha between 1910 and 1913 ?
(a) Binodini Dasi

() Rashsundari Debi

ic)
@

Begum Rokeya Sakhawat Hossain
Kailashbashini Debi

To develop the spirit of inquiry ﬂk

69.

(21-A)

Arrange the following events chronologically
starting from the earliest : '

1. Ahmedabad Mill Strike

2.  Champaran Satyagraha

3.  Foundation of the Satyagraha Sabha
0 Jallianwala Bagh Massacre

Select the correct answer using the code given
below :

@ 1,23,4
) 2,184
(c)

[I and select the correct
riven below the lists :

List IT
(Headquarters)
1. Secunderabad

B. 7 ) - 2. Kolkata

C. South-Western 3. Bilaspur

D. South-East-Central 4. Hubli

Code :

A B g > D

@ 2 1 4 3

1M e 1 o

Gy g 1 2

@ 3 1 4 2

Join Telegram : https /1t me/defenceekaksha
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72.

73.

74.

GHSA-B-GNL

&1 faft ¥9a forreh e o ST 2 2
(a) 30 ASHM 3N HEY feuH
(b) faoft eTeAm ik fifeet sieam

(c) Tafee steam it w1 FepEw

(d) HR FFHER i I FeEr

o 1 % g 11 @ g i sk gl
= faw T e A = W g

gl

(STTFara).
ST ¥
EQEILIE
el :
fepforgt | 4.

(75)
e
afem
may

»

e -
o

<%c:

(a)
(b)
(c)
(d)

|—A|—-c.ooo>

D
1
1
3
3

R N N
N O SRR N

ﬁm%ﬁaaﬁﬁaﬁ?m@,wﬁmw
qﬁwﬁaﬁév
(a) ﬁga?ﬁaamg?ﬁwqﬁaamwﬁww

(b) ‘q’f\maff:fmrﬂmqaﬁw%zm
#1 IR yaE

(c) HFR & & 959 | AT fiqant

ATt i AT § St e wror @R §
Tafor it g § wH ot 2

(d)

gl 4

75.

76.

i

(22-A)

WA % Hi9u™ % ER, fefafes st §

HI-H1 T T 7@ R 2

(a) | H HEUEH TREAT IRG F Tgufy o
fafea gt |

(b) wHg, fafy g1, wRa % U9y ¥ T
TR Sl TehiE Y o Tt 2 |

(c) WRA 1 Ugufd wog & @ft gewdi ofk
at U5 faum el & aft gewt @ e
5 Fates dsat g Faffea g g |
15 =, TgEly h w9 A vgaw W
i T, I 9 T gwd vty ¥y Fate

% forg wm e

m%ﬁﬁun%ﬁnmaaﬁﬁﬁ%
HH-HI TH, YR & Y= H q 0T HaT 2
f mfufog % foil @ defte g wwa &

(d)

| TR T S e 2

(a) 3= 78
(b) FT=3T 74
(c) 3=\ 75 7
@ HI=T 81

Rfertn w5 & S o T 7 2 2

(a) " HId TR At Teft FHriurierr srfatfzat

ARG % TSHTd & T8 9 H A § |

(b) ¥R W Tsgufd fordt =afss & wma &+
HEETd o &9 # Ay war ], sed
98 I=dq e 1 fREH 3= =me
I AR & % foe @ g |

(c) wfufyg # 6t A $a gen @ Tw
% F Tl % oF wlawd & 1 T8 B
Hehel |

(d) 9RT 1 Tegyid AbmRyg g & 78 wee
% IER 1 HH F forw a1eg B |

Join Telegram : https://t.me/defenceekaksha
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72. Ten Degree Channel is found between : 75. According to the Constitution of India, which

@ No’fth B M Andaman one of the following statements is not correct ?

: ; : ' (a) The executive powers of the Union shall

(b)  South Andaman and Little Andaman. be vested in the President of India.

_(¢) Little Andaman and Car Nicobar. (b) Parliament, by law, can confer functions
s Bl 4 on authorities other than the President

(d) : Qar Nicobar and Great Nicobar. of Tndia.

73. Match List I with List IT and select the correct ‘ (c)  The President of India 1? e.lected by

- o e ol en‘below b Tate electoral college consisting of all

ansv'ver W A R ; ’ ‘Members of Parliament and all
iy T it IT - Members of all State Legislatures.

(Waterfall) 2 i d office as the

e for election to

A. Barkana

s ing Articles of the

C. Duduma ires the Prime

ish information

‘D. Kiliyur ncil of Ministers

Code :

A

(@ 3

(b) 3

VRS

. statements is not

(. S ¢

ecutive actions of the Government
74. Which one of the following is no are taken in the name of the
of the El Nino effect ?

(a) Distortion of ~equatori e President of India appoints a person
irelaison as Attorney General of India provided

: she/he is qualified to be a Judge of the

(b) . Flow of the South-East Trade Winds Supreme Court or a H1gh Court.
towards the Indian Ocean ) (¢) The total number of Ministers in the

(¢) Irregularities in the evaporation of dod Council of Ministers cannot exceed ten
R : percent of the total number of members

of the House of People.

CY Re(.lu_c_tlon in the amount of plan.ktons (d) The President of India is bound to act as
which reduces the number of fish in the ~ per the advice tendered by the Council of
sea _ Ministers.

GHSA-B-GNL (23-A)
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78. W& e, T w vrdy < w@igar i uwr 377

79.

80.

GHSA-B-GNL

(a)

“(b)

WRA % HiOUH % Igeee 21, 14 3R 15 @I
Seeied Xt 2, frefafed § @ fe v A §
Foffa foram o 2

g fee s m wwa @

(b) ferarmen &4 TR TS
(c) xrmwha:rmm@ia

T BRI oW feeeht UsE TSR

(d)

frafofen § & Bt e fe m oo ¥
‘3T U IR R 2 ‘

(a) oferm i

b Aww |

() wffEm

(d) & IRal

Pt # @ # dag few A e
97 ? ;
2. sﬁ*gmmsﬁq |
3. faferm o
4. sfasaFr

Her fou T e 1w woad I gh
%ﬁ'ﬂlaﬂtz

Fad 13 3

() ad 1,23 3

érémz,saﬁu

(a)

(d)

81.

82.

83.

(24-A)

frfefea ot w fam Hifve .

1L 199 v B, fram e ¥ Rt R

i sl 3R SN wmEl % fweg
foge # 33 |

2. W 1875 #, e g § G R ¥ g
e, fREE 3 gHMGR W g fbu,
g1 @ wen fou, s i gwEe o o
3R HTEHT % SR F S o A |

I HYAl H A B/ BT TE B 2

(@) HadA1l .

(b) Had2.

S(E 132

@ Jd@LAd2

Freiiian § 8 B, e T

AR fgid 1 S FgF e 2
(a) 31T -
b) e

© @i

(d g™

stgea i i BN % wi § et

T TR T

1. #fhag T sifircia i fmeft e
T e stgrd § oreies i e
T TIE JHTUT 24 § |

2. Y Rieera-1 stgaa # i Y ameen
B 3YHTTG 3T qREd 1 T9T07 241 & |

ST FoEl A B/ B T R 2

(a) $ad 1

(b) I 2

() 13M2@EHl :

@ TN 1,982
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W‘ﬂ%ﬂﬂ

| LET’S LEARN TOGETHER

78. The issue, ‘whether Section 377 of the Indian |81.
Penal Code is violative of Articles 21, 14 and
15 of the Constitution of India’ was decided in
which one of the following cases ?

(a) Shreya Singhal vs. Union of India :
(b) Vishakha vs. State of Rajasthan

(¢) Shayara Bano vs. Union of India

(d) Naz Foundation vs. Government of N
of Delhi and others

79.  Which one
‘may have

()
(b)
(¢)
@

Serampore
1.
2 Joshua Marshman

8 William Ward
4. David Hare

Select the correct answer using the code given
below :

(a) 1and 2only
(b) 1and 3 only

(¢) 1,2and3only

(d) 2,3 and4only

GHSA-

Consider the following statements ":

1.

In the 19! century, peasants in various
parts of India rose in revolt against
moneylenders and grain dealers.

In May 1875, at village Supa in Poona
District in the Bombay Deccan, peasants
attacked shopkeepers, burnt the bahi
khatas (account books), looted grain
shops and set fire to the houses of
Sahukars.

n§ given above is/are

was not a part of
of the State ?

Minor Rock Edict-I gives evidence of a
sudden change in Ashoka’s faith in
Buddhism. -

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Bothland2
(d) Neither 1 nor 2

3 GhfJLom Telegram : https: }5/t me/defenceekaksha
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84. SwEE ffiel # f=fafed § & #9178 =

Sef¥id Bava 272 2
1. g
2. Tom g=eh (Tew 3 =h)

et f3T T e 1w R wE I gR
(a) Had 1

(b) haA 2

(¢ 13R22H

(d Fdr 1,982

gt 1 B g iR gafera Hife sk ghw &
ﬁ%ﬁnmgwmwwww;
gl g
(#e7) (757)
A Hferaeft | faferrm

CEILG femTereT wem
TS dftrerTg

O ow
Row o

A

A
(a) 2
(b) 2
() 4
d 4

MW o

W w0 ey
LN I e

fefofed & & S v g Fgu (W) a9
%1 Haifeh TEwaqul R & ?
wfédt it @i+ft wd

‘St yeeg (3 fore)’ 1 s
3 1Y TGN HHTeH! S Iufeufy

g 09 ¥ SW H1E sgd W F a1y
e 4 g fiee

(a)
(b)

(d)

87.

88.

89.

(a)

A& AR (642m) IeWH 3R FEER
SITEHE 1 T AE@qUl vdd et § | 98 wa
JTafea g 2

(a) I8 3eHM |

(b) WA FiegHM

(c) cfeoft feum &

(@ R PeErd

fefafaa & @ form o s # s=am et
1 A— :
(a) Tewremifed wda

(b) s et fife sy

(c) ﬂ_g'ém »

().~ A0

Frerfifies 3 @ B o ve, H f =
ot e % gl wiifi 9 fen o’ s
o 1 Pefa a2

ST W(Autrefois acquit)

i 199 7 SIFSH (Non bis in idem)
7T BT (Autrefois convict)

3771 371e2TH YIeH (Audi Alteram Partem)

(b)
(c)
(d)

W |1 eIy F SR § Prefafed § @ S
@maﬁaﬁ%?

(a) % §HI H GG 7 T W 98 92 @reft
A |

9g, et ot wmg, yma & usEfa =
M g W ug M R EHAT R |
34 el % ot qoEHy weElt % 9gEd d
i & GHT % Hehod g 36F 9C o
BT 3 Gohell & |

I |97 EAY 1 9 Wiell W& 999, 39
g & HE il @V ITEIH g fu
ST |

(b)

(c)

(d)
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Whlch of the following variable(s) is/are [87. Mount Thullier (642 m) is an important

84.
d18played in populatmn pyramlds ? mountain peak of Andaman and Nicobar
1 Age-groups : Islands. It is located in :
2.  Sex indicators (male and female) 40 (@)  North An‘daman
Select the correct answer usmg the code glven (b) Middle Andaman
below : (¢) South Andaman .
(@) 1only (@ Great Nicobar
(b) 2only
(c) Both1and?2 Wh1ch one of the followmg land surfaces has
(d Neither 1 nor 2 ghest 2
85. Match List I with 11 and sele € - - ' ont surface
: answer using the cod 25
A Kp.liveli ' wing terms represents
B. Khajjiar an/person shaﬂ be
C. Khecheop
D. Vembanad
Code
(a)
. - ) eof the following statements about
(b) : Speaker of Lok Sabha is not correct ?
© a)  Heshall vacate his office if he ceases to
(d) : et mber of the House of the People.
; SN S : (b) He may, at any time, resign by writing
86. Which one of following is the most important ; his resignation to the President of India. -
factor for the formulation of.smo.g ? : (¢) He may be removed from his office by a
(a) Long winter nights : resolution of the House of the People .
(b) Formation of an ‘inversion lid’ pasged By ‘mpjority. oLl W tan
E members of the House. ~
(c)  Presence of many air pollutant resources 3 i3
- : - : : (d) While the office of the Speaker is vacant,
(@) Rapid fall in temperature with " the duties of the office shall be
increasing height above the sea level  performe d by the D eputy Sp ki
GHSA-B-GNL
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o1 W % e # i g e faiew %|os wfe % fre gag Fetew dew s
aﬁﬁﬁmﬁﬁamﬁﬁﬂqm@aﬂ o foam e o 2

TR 2 . (@) AR guw, 1909
(a) i WA o HfIHH % 313?33 368(2) m :
S (b) Wi HHIE FUR, 1919

(b) W%aﬁmﬁéﬁmwﬁmaﬁ? o e

.ﬁﬁwmmﬁ%‘mﬁgﬁéﬁw (@ 'mmaﬁﬁm,;s%

e o s wehar 2 | :
(©) TF faum weet wra % wfoum ﬁx
: %1%111“ S—

92. sma%

S NI N Freifefan & o aqﬁaaqarwa;ma
TR ; | | e T e
(a) WY ' ' | (@) TAT EE
o R ' 4 b) FogewEwes
e 4 ' (@ G N S
GHSA-B-GNL
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Which one of the following statements about a |94. The provision for separate electorate for

91.’
Bill for Amendment of the Constitution of| =~ Muslims was given in
India is not correct ? ; ;
: ; - (a) Morley-Minto Reforms, 1909
(a) It is governed by Article 368(2) of the ‘ :
Constitutioh el india. (b) Montagu-Chelmsford Reforms, 1919
(b) Joint sitting can be resorted to for (©  Communal Award, 1932
RO e B e e (@ Government of India Act, 1935
Constitution of India. : :
(c)
as/were the founder
e e Rl ember du : st Republican
@ ) ' ction ¢ : ber, 1928 ?
92. Which one of th oll
in electing the isin g the code given
(a) :
(b)
(c)
(d)
 First-Past-the-Post System
‘93. F;rom aining -, Tolleaciais 0 ahajanapé e 96. Who among the following did not beloné to the
4 i ’ B = ’ 9
; identify the gana/sangha (oligarchy) : SOy pol NG Do e <
(a) Magadha (a) M.A. Ansari
(b)  Vajji ' (b)  Vithalbhai Patel
(c) Avanti . ' (¢)  Chakravarti Rajagopalachari
@ Kosala : (d) Kasturi Ranga Iyengar
GHSA-B-GNL
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97.

98.

99.

100.

e ATRIA/ATE] 1 G Hal o1 ?
(a) ET WITeeh!

(b) TRE favafaerem

(c) UIcais

(@) AT

TIERYT AR Gues &1 f=fafed § @

IH-H1 UF JH T gAfora 7@ B 2
THER-97 qIIeH

(a) Taefiaq wETenT et

b wEE L S TR fer

(c) STeAl W‘ﬂ'\iﬁ

(d) " AE sfea T F e

frefafes § @ A o, @E AE 5

g Gy e % FEed i gl 6 o

o B

(a) foifew ot o <hi e i |

(b) o 7= ITeR! o WY THEAT HE AT Ig

H 9P e e wEa |

i & TsaeE |, T frfes gera 8=-qa

A9T9 T@T ST 4

) ﬁaaﬁﬁﬁmw@ww%w%

-~ fore Tumem g wua g o

fraffea & @ #9w w, o feg

Teftertefia e wEmeE @ 2

I St

39T <M H A

9

JTehfceh ¥ H Y-G9

(e)

(a)
(b)
(c)
(d)

GHSA-B-GNL
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101.

102.

103.

104.

@

A & H, GUER § A e@l JW 91 9E
Q-ww ga/a-wy Yoy, Tl fafdse oar & 2
(a) 3TEw wiosy ¥ Afvges Sot gean

(b) SAAST HFR 390y hi RO e
(¢) —Idau Ay HARE H

(d) TSI qgT 7Y AT Al Framor

St i e 3 Frffen g @ frem

HIR |
1. iawEH frspa Wrreren-amenfia
EEGIE!

2. Hifefies f:-{,»\thNAéwﬂq
3. PgaﬁEV: mmm

aﬂﬁﬁ#ﬂqmﬁwa@g&%ﬁ@%?
(a) ohae 1 .

(b) - T2 3

(c) wad 131 3

(2 S

JHGT TRAE  HHRERI ii 3feeiied gt
FIGAY T B 2 :
(a) aﬁé$1ﬁmﬁaﬁ$1ﬁaﬁﬁﬁsﬁ

mmmﬁmmﬁﬁ?ﬁq@ﬁ
arelt g ufsetsh T HET

HIT 351 ATl TsA & e arelt et
EZCilcaREriC T

WRE H R wRdE we % wedm §
SR T aTet i3 faeht s Heot

AR B0x 30 @& % ¥ X ¥ Th
AT Ygd H FAH GHER H @ AT R |
frafefaa weat & 4w ©, 39 9gA 9
gag arferes fafefaq =@ @ 2
(a) HU-U-HA 30% UE H 2030 dF =T
ST =R |
FA-HFA 30% FL &I H 2030 T
Sifees HY & e @ S =Ry |
FU-T-HA 30% Soll AEIThdT HI 2030
o TRl |id | g0 ok ST =R |
T [T & = F FH-A-HT 30% A
i, 2030 TH ITh! T T & AT ST
| :

(b)

()

(b)
(c)

(d)
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The headquarters of Ghadar Movement/Party
were at

(a)
(b)
(c)
(d)

San Francisco
Stanford University
Portland

Florida

Which one of the following pairs of Newspaper
and Editor is not correctly matched ?
Editor

Bal Gangadhar Tilak

Newspaper
(a)
(b)
()
(d)

Navjivan
Mahratta £
Bengalee

_ Smndranath Banerjea
Voice of India

¢ Gopal Krishna Gokhale

Which one of the following was nof included in
the terms and conditions of Subsidiary
Alliance System of Lord Wellesley ?

(a) The Bntlsh would protect their ally.

The ally was free to enter into
agreements with other rulers or engage
in warfare.. :

(¢) In the territory ef the ally, a Br1t1sh

armed contingent would be statloned

(d) The ally would have to prov1de resources

" for the maintenance of /he British|

armed contingent.

Which one of the following is an exhaustible
but renewable natural resource ?

(a)
(b)
(c)
(d)

Solar energy
Water in usable condition
Soil

Landscape in its natural condition

101.

102.

the term ‘two-pillar

solution/two-pillar package’ often seen in the

Recently,

news, refers to

(a) Global energy security in near future

(b) International cyber crime reporting

(¢) Minimum global corporate tax

(d) Prevention of  international
laundering

money

Consider the following pairs of vaccine and

category/type :

1. Covaxin Inactivated pathogen-based
vaccine

2. Covishield : mRNAwaccine

3. Sputnik V :
Which of the pairs given above is/are correctly
matched ?

Viralvector-based vaccine

~(a) 1lonly
(b) 2and 3 only
(¢) - 1and 3 only
(d) . 1, 2:amd 35

103. What is {Unicorn Company’ often mentioned in

Indian néews ?

(a) "Any privately held startup company
with a value of over $ 1 billion

(b) Any public sector company to be merged

; with another public sector company

(¢) Privatization of any loss-making
State-owned company

(d) Any foreign multinational company
doing business in India in collaboration
with an Indian company

104. A global ? initiative popularly known as

(31-A)

(d)

80 x 30 target’ is often seen in the news.
Which ‘one of the following statements best
reflects this initiative ?

(a) At least 30% of the planet should be
protected by 2030. ;
At least 30% of the cultivated area
should be brought wunder organic
farming by 2030.

At least 30% of the energy requirements
should be met by renewable sources by
2030.

At least 30% of the people below poverty
line should be brought out of their
poverty by 2030.

(b)

(c)

Join Tellegram . https://t.me/defenceekaksha
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105.

106.

107.

108.

GHSA-B-GNL

Fetiigd o1 § | SH-91 U LOFAR (f=

Frgfe =q5) % IR F 7@ B 2

(@) ¥e fova =1 waifees witwemeht e T
21

(b) ¥® afdE f W9 F fow NASA gw
yifed e fenfieh § |

(¢ I8 3wrg fewmmem woreht fiffa &0 &
TS O FieT § I9UEl i e ? |
(d) I8 5G Fa13T & f9u Jar g=R Senfih
i

T @ # W i % e, PR o w
WA-gd FH HETH AT G, TR h|

rfefes freRifed # @ $H-A o= e & 2
() e, @l SRa SR USA
(b) ISHITH, UAE 3 USA

(© 3R, UAESR UK

(d) I, T I IR UK

T & § e 8 Sfeeias 9q foaes sl
et o fafdee =+ € 2

(a) §§Hfﬁ1ﬂ$§ gyl

(b) wrgmﬁsmﬁﬁmg%ﬁ

(c) Wun‘laa;mn%mf

(d) W@W

ﬁw%ﬁaamﬁﬁéaﬂqwﬁaé%;%v

1. 9Rd A 19719 ey 6t gfts 3§ 8 &
STATG i HFdT SEH it & off |

2. W 2021 H, WRA 3 SFEERY g T
6 fedsr & &ft fegw & &9 § T @
foter foram o |

= fa U e & T R EE I ghT

(a) e 1 :

(b) had 2

© 13moed

d TA1L,IE2

109

110.

111.

m‘a‘ﬁ 9Ra | Frefafed 39 & @ fhe w
& UIY T 6 TR AK-203 TEHA 1 % Th
F T FEER fHu 2

(a) ShdATSI

(b) ®H

(c) W™

d) 3REA

fegst 2021 #, frforfiga § & a1, wOen a6
%maﬁm/ﬁmw/w?

(a) . ?Fﬁmﬂﬁﬁ N

(b) qm@mw

(c) 311'#7? e ‘* g

(d) mgﬁ%qﬂq

Freffem e @ A w3 2

1 mwﬁgﬁw‘ﬁéﬂmﬂag@n

(b)) HadA 2

112.
rﬂqmwwp
() as@ssﬁﬁm%ﬁ:aﬁfaa;wa

(32-A)

FEGR & |
2. Wﬁﬁsﬁmﬂ%mﬁﬁm%n

ﬁ%%qmgmuﬁnwa@mgﬁq
(a) ad 1 A |

S

(e) 13’-ﬂ'{2a7h> ‘.:i’;;." ¥

@ W 1LAS2

mﬁaﬁn%aﬁﬁﬁm&%mﬁﬁ@

SHif=d T8 |
(b) & UN wif<gs fiem & 99 T
TR 2 | »
(c) 98 FAaNA-IEh ST M % W NASA
g 94 U fafeheme € |

(d) 98 T VR Fears Raarel |
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Which one of the following statements is|[109. Recently India signed a contract for the
correct regarding LOFAR (Low Frequency manufacture of nearly 6 lakh AK-203 rifles
Array) ? with which one of the following countries ?
(a) It is the world’s most powerful radio (a) Canada
antenna. e
(b) It is a space technology launched by| - (®) .
NASA to discover exoplanets. : (¢) France
(¢0 It is an arrangement of satellites in (d) Israel
space for the purpose of creating :
Satellite Navigation System. :
@ Tt is a  wireless communication 110. In December 2021, who among the following
: bechnology for BC wentita succeeded Angela Merkel as the Chancellor of
T ' Germany ?

(a) Olaf Scholz

(a) Egypt, §
(b)  Israel, UAI
(c) Egypt, UAE ar . . h. of 1 ing statements is/are
(d) Israel, Saudi A : :
is  the

ng the code given

Which of the “fo

correct ?

1.
Bangladesh even before the
Bangladesh in 1971.

2. In March 2021, bot
Bangladesh had decide celebrate

6 December as Maitri Diwas. (a) He is an engineer who revolutionised

Select the correct answer using the code given organic farming.

below. (b) He is a diplomat selected in a UN
(@) 1lonly Peace-Keeping mission.

(b) 2 only (c) Heis a physician selected by NASA to be
(¢) Both1and2 . : an astronaut.

(d) Neither 1 nor 2 s (d) Heis a star football player.

Anil Menon is correct ?

GHSA-B-GNL , (33-A)

Join Telegram : https://t.me/defenceekaksha



LET’S LEARN TOGETHER

113.

114.

115.

116.

YR 1 gl HHe =Ry e 2023 § wRw
feran ST | gEe AW wR 2

(a) aIHA

(b) Tosmm

(c) ¥gAE-3

d) TEEE

frafafga & 4 @ fom e 3 aftss ufeen
T Feata Afeafim, 2021 Sfidt 2

(a) WO

b) W& _

(o) ieem e

@ sifem |

fgsnfean veft enemea % sw # Fefifag # o
HH-AVHH-H TE Y 2

1 FE @, T T e (ST A

R ImE) % &9 A v R T |
2. % IO Wew H O @ | A
ﬁmm@mmwaﬁmgﬁq
(a) ohad 1 :

(b) Fae 2 |

(© 132N

@ JAML,IH2 »
ftfotfa ot 8 & P wr 3 o A A
# 2 i a8 wew fuifg 5 ™ 2

' 2025 T% 39 U hI YEIH HA arell SHECET
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5% 8 it 9 1§ Saf 2
(a) TS
(b) ST

(c) qsﬁés

d &4

(34

117.

118.

frafafes & 4 foe FIDE fova s
Aftrafim, 2021 S 2

(a) A9EEH3T=

(b) THE HIAGT

(¢ T&mamE

(@) o iy

firgame a=cfle sneEmmE, geaRg TS
UM, 3 T TS AN IR aryEE
sy & el A, frafafeq ==t 4 @
HFT/E TG B8 27

2. A gty w9 R T i F |

119.

3. Awf veft fmm v &
ﬁﬁmmw?ﬂ@ﬂﬁwwgﬁq
(@) .<hacd 1 4

(b) A &act/12ik 3

(o) Fhaci|2 31 3

(V4,2 3R 3

Fefeiea & 8 e Jomm 5 fou

.m&wuﬁﬁaﬁmwmsﬁ@ﬁm

ol W AT S ST wY A € e § e 2
(a) ﬂ?@ﬁ%'@iﬁw

(b M % FeE 3R T

120,

_A)

(¢) . WS, FI IIgHSA

(@) T e i 3 A

g 8 °, faEfafgs 4 4 feg w w e o
qUdTiesh ALl 8§ I8 T g1 @ foh 39w
T 1200 BCE T Teh HeAdl-Jerd! Hiy @wqar off
3R a (ITae) it Wl 3=t ae wfia off 2
(a) TIR JreTE

(b) FWM e

(c) YW TEl o T HT &

(d) e 6 < Tl 51 e
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113.

()

114.

115.

116.

(b

GHSA-B-GNL

India’s maiden human space mission will be

launched in 2023. What is its name ?

(a) °~ Vayumitra
Vikram

()

(d)

Chandrayaan-3
Gaganyaan

Which one of the following teams won the
Senior Women’s National Football
Championship, 2021 ?

(a)
(b)
(e
(d)

Manipur

1 onlj'
2 only
"Both 1 an :
Neither 1 nor 2

Which one among the followi
announced a plan that sets

2025 ?
(a) England
Germany
() New Zealand

(d)

Russia

(35

fewer than 5% of its populace smoking by

117.

118.

-A)

Who among the following won the FIDE World
Chess Championship, 2021 ?

(a) Nepomniachtchi
(b) Magnﬁs Carlsen
(¢) Ding Liren

Anish Giri

(d)

With reference to Bhindawas Wildlife
Sanctuary, Sultanpur National Park, Thol
Lake Wildlife Sanctuary and Wadhwana
Wetland, which of the following statements
is/are correct ?

e following was a
would be farthest
n exclusively on -

ngs and moons
atmosphere
Belt and Oort Cloud

Recently, archaeological studies at which one
among the following revealed that by
1200 BCE there was a flourishing agrarian
civilization and the cultivation of rice was
well-established at this place ?

(a) Raichur Doab
(b)  Krishna Delta

(c)  Vicinity of Vamsadhara river
(d) Vicinity of Thamirabarani river

2
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : GHSA-B-GNL- : Test Booklet Series

TEST BOOKLET
GENERAL KNOWLEDGE

Time Allowed : Two Hours Maximum Marks : 100

3.

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF'THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test

-Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate

places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each iter is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet. v 1!

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. ’

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you'should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet. : :

Sheets for rough work are appended in the Test Boolﬂet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS. : :

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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